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M.A. (Second Semester)
EXAMINATION, MAY-JUNE 2022

ECONOMICS
Paper Fourth

Indian Economic Policy

Time : Three Hours] [Maximum Marks:80

   

Note : Attempt all sections as directed.



Section-A

 

(Objective/Multiple Choice Questions)

1 mark each

    

Note :  Attempt all questions.

  

Choose the correct answer.

P.T.O.
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1. 


(A)      

(B)  

(C) 

(D)    

In which of the following sector NGO's are playing an
important role?

(A) In governing the police force
(B) In framing the police related to laws

(C) In framing the environmental policy

(D) In deforestation.

 


(A) 

(B) 

(C) 

(D) 

Which amendment Act of the Constitution has been
passed to give a new look to the Panchayati Raj Institu-
tions?
(A) 71st
(B) 72th

(C) 73th

(D) 74th



[3]

F - 574 P.T.O.

3.   ?

(A)    

(B)    

(C)     

(D) 

Why there was a need for economic reforms in India?

(A) Due to fiscal deficit

(B) Due to adverse BOP

(C) Due to rise in prices

(D) All of the above

4.  
?

(A)    

(B)  

(C)   

(D) 

Which of the following reason led to the introduction of
near economic policy in 1991?

(A) Poor performance of public sector

(B) Consistent rise in general price level

(C) Foreign exchange crisis

(D) All of these
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5. (PURA)

(A)   

(B)        


(C) 

(D) 

Which of the following is the main objective of the PURA?

(A) Providing Urban facilities in rural areas.

(B) Establishment of business and technical institution
in the village.

(C) Provide basic facilities to the people in rural areas.

(D) All of the above

6. 

(A)  

(B)  

(C)  

(D)   

Who measures the poverty line in India?

(A) Niti  Aayog

(B) National Sample Survey Organization (NSSO)

(C) Finance Ministry

(D) National Development Council
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7. 
?

(A) 

(B) 

(C) 

(D) 

In which year the National program for "Food for Work"
was launched?

(A) 

(B) 

(C) 

(D) 

8.          
?

(A)  

(B)  

(C)  

(D)  

In which unemployment rate does the marginal produc-
tivity of workers is zero?

(A) Disguised unemployment

(B) Seasonal unemployment

(C) Structural unemployment

(D) Educated unemployment

P.T.O.
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9. (RRBs)


(A) 

(B)  

(C)  

(D) 

Which of the following is the regulatory authority for Re-
gional Rural Banks (RRBs)?

(A) NABARD

(B) Sponsor Bank

(C) Reserve Bank

(D) All of the above.

10.     ?

(A) RBI

(B) IRDA

(C) NABARD

(D) SEBI

Who controls the "Capital Market in India"?

(A) RBI

(B) IRDA

(C) NABARD

(D) SEBI
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11.    

(A)  

(B)   

(C)   

(D)  

Which of the following is not a function of a commercial
bank?

(A) Credit creation

(B) Issue of notes

(C) Loan granting

(D) None of the above

12.        (NBFCs)
  -

(A)  

(B)   

(C)     

(D)    

Which of the following governs non-banking financial
companies (NBFCs)?

(A) Central Government

(B) Reserve Bank of India

(C) Industrial finance development bank of India

(D) Securities and exchange Board of India

P.T.O.
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13. 


(A)  

(B)   

(C)   

(D) 

Which of the following institute is associated with "Dunkel
Proposal"?

(A) World Bank

(B) (IMF) International Monetary Fund

(C) (WHO) World Trade Organisation

(D) (UNO) United Nations Organisation

14. 

(A) 

(B) 

(C) 

(D) 

How many countries are the members of the WTO?

(A) 164

(B) 120

(C) 96

(D) 48
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15.    

(A) GST

(B)  

(C)  

(D)  

Which tax is collected by Panchayat?

(A) GST

(B) Fair tax

(C) Custom duty

(D) Excise duty

16. 


(A)   

(B)   

(C)   

(D)   

Which is the best method or reduce the inequality in In-
dia?

(A) Nationalisation of agriculture

(B) Nationalisation of industries

(C) Nationalisation of both

(D) Implementation of progressive taxation

P.T.O.
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17.   

(A)   

(B)  

(C)  

(D)  

Who SEZ came into existence?

(A) Import-Export Policy 2002-2007

(B) Governmenmt Policy

(C) International Policy

(D) None of the above

18.  ?

(A) 1910

(B) 1915

(C) 1904

(D) 1900

When did the cooperative movement start in India?

(A) 1910

(B) 1915

(C) 1904

(D) 1900
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19. 

(A)   

(B)   

(C)   

(D)  

Which of the following committee is concerned with li-
censing of banks?

(A) Vijay Kelkar Committee

(B) Bimal Jalan Committee

(C) M.B. Shah Committee

(D) Madhav Menon Committee

20. 
   

(A)  

(B)  

(C)  

(D)  

Which of the following ration card is for the poorest of
the three types of ration cards in India?

(A) Security card

(B) B.P.L. Card

(C) B.B.P.L. Card

(D) Antyodaya Card
P.T.O.
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 

Section -B

  

(Very Short Answer Type Questions)

(2 marks each)

    

Note : Attempt all questions. Answer in two/three sentences.

1.     

Mention any two factors that motivated privatization in
India.

2.   ?

What is relative poverty?

3.   ?

What is E-banking?

4.         

Mention any two main functions of Reserve Bank of India.

5.  

What is foreign exchange rate?
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6.   

Which items does India import-export?

7. 

In which conditions can the balance of payments be
imbalanced?

8.        

Write any two functions of world trade organisation.



(Section-C)

 

(Short Answer Type Questions)

(3 marks each)

   

Note : Attempt all questions.

        

Throw light on the main main functions of commercial
banks.

      

Mention the effects on agriculture of Globalization.

P.T.O.
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    

What is the difference between Reserve Bank and Com-
mercial Bank?

  

What is the importance of balance of payments?

   

Mention the main objectives of FEMA.

  

What is the main problems of co-operative sector in
India?

    ?

What are the main features of foreign trade policy?

 ?

What are the major agreements of the World Trade
Organization?



(Section-D)

 

(Long Answer Type Questions)

(5 marks each)

   
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Note : Answer all the questions in 150 words.

 
   

Briefly describe the various programs run to remove un-
employment in India.

/OR

       

Write a short note on National Employment Guarantee
Programme.

?


Give reasons, why the deficit of balance of payments is
increasing continuously in India.

/OR



Write the main trends of foreign trade in India.

      

What are the monetary policy of Reserva Bank of India?

/OR

      

Describe the components of capital market.

P.T.O.
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 WTO         
    

Briefly explain the effect of WTO on different sectors of
Indian Economy.

/OR




Evaluate the role of cooperative sector in Indian economic
development.


